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Predicting using line segments
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Predicting using 2 variables
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Minneapolis house prices, 11 X variables
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Practical issue: how complex a tree?

|

() December 4, 2018 5 / 7



Out of sample prediction error
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Can apply ideas to yes/no responses

Is the juvenile period usually less than 
5 years (trees), 3 years (shrubs and 

vines), or does it grow very rapidly in 
its first two years?

Does it have a 
G-value ≤ 0.427?

Does it have a 
G-value ≤ 0.527?

Does it have a 
G-value ≤ 0.5345?

No

NoYes

NoYes

No

No

Yes

Yes

Yes

Accept Accept

Reject

RejectFurther analysis/
monitoring needed

Further analysis/
monitoring needed Does the species invade 

elsewhere, outside of North 
America?
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